ASTRO 536 HW #4 - Due 11/8/17 in class

Problems/exercises for the Virial Theorem, Hydrostatic Equil.:

Problem 1 is for 20 points, half for extra credit ; The rest are worth 10 points each

<

1) Qaﬂkw%véﬁa <y iom o Mok

¥

. - -y
ODy- - VEZ + 4

O
4
%
o)

= TZ P"
Dt

y eorvenorn b’U

7!

for o clowd g8 ﬁ:as u :A&muéﬂ p ui(oé@

*
>
3
&

| p/\'ﬂe,ssw P oaav “boJf’u\h';& &, ¢ echic A
| C

&
3
S
s
®~
&
£

@/
<
i

§

{
<
)

{

O
<
S
3‘!‘,
|-
>
N
o
>
.',
AN
<)
o

&

o
e \Jwd Theorem |

- <§‘
AT
s .
=)
~
S
N
()
=
iy
g o
| -
R
<
g T~ 5%
S
R
[70)

—

3
]
Al
i

NS n
)
+
ool
=
=1
ni o
\\__\‘

LAV

<
n
|52
(=
<
=
i)
o0




1) Contides &:30\5%[& Sz\:he& B unhorm %&mfwo@(m
T oomd tdy 0, radane [, un . medium 8%
CM\C'Q A paescune P From Al ool oo -
chow Hhat Sudh a ¢phere can be dn 2 wlidosicn
bo&f; the  ostoanal Mmeduam Of\vﬂ Y the DreLiue
& les Han o ondicad value

P = 3% J / !9_’1” T [
By | —— 7
L \ M/ U G
: . ln o - 1 g l L
(3) \( (Lomsdly | Kine Qdudwn gr{ kdcwr alic.
palinis fo o thos of Padic I,
Wags | M EEEEEEESEERDEEEERE
(o) Showo| Tl the lﬂ«e we oAl the Cople , Yl c»\/
[Eptg)| v quen by the  Cauadadn s
U J J v |
7 L /‘k - Y s L
LoD = U feaN G\ Lol N3 M 2(A) dMOn
72002/ TV U
.Lo
Hou, )O(rh o the Oueage dlens £ a
fig\) A2 ré /%aﬂw‘w Jr < Z NV, A s
(D] Assume Hok 20D 4 a honotoacall,
— A : . ) . rdh] -
e 1) decesowng | funcdoum of Al [aove S
\z Y L A EENUNA Y v
% [ MO L T e) 4 G e\ 0 (o> M
e\ Uipe ) ‘ (7 J
RIS
=




